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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 365 399 764
EARI1TH 1,035 1,174 1,289 2,463
mAET2TH 1,210 1,081 1,425 2,506
A R ET 2,283 2,353 2,570 4,923
BERT1TH 531 538 588 1,126
B EET2T H 411 428 464 892
B ERI3TH 315 360 340 700
B ERTATH 532 485 529 1,014
B EBRTSTH 826 914 919 1,833
I ER6TH 366 401 420 821
HiF = HT 556 622 656 1,278
45 KHT 459 530 552 1,082
HHT 1,006 1,130 1,270 2,400
BEHT 55 56 62 118
A K BT 619 727 743 1,470
7 HT 442 451 457 908
RICET 473 512 537 1,049
FORHET 201 202 233 435
RFHT 211 213 249 462
KHET 372 349 393 742
KET1TH 235 250 290 540
XKET3TH 284 334 316 650
XETATH 884 828 1,036 1,864
fit] LLI BT 2,383 2,784 2,882 5,666
JE LT 976 1,115 1,219 2,334
EHERT2TH 300 439 435 874
EHERISTH 431 537 550 1,087
EHERT4TH 381 455 479 934
EHERSTH 330 391 462 853
EHERT6TH 207 276 266 542
EHERT7TH 162 245 252 497
=Y:i 334 347 397 744
8 [ T 1,612 1,498 1,759 3,257
=i ET 510 547 626 1,173
2l 3t BT 477 603 576 1,179
N =15 101 120 124 244
+HEFRT A 638 650 711 1,361
L EFHTER 862 758 866 1,624
L HAET 2,070 2,325 2,420 4,745
LFH¥ABT1TH 73 123 121 244
LH¥\ET2TH 159 161 181 342




HEZ HH 5 £ i
LH¥AET3T B 152 151 179 330
L¥AET4 T B 159 171 198 369
LHABTS T B 213 267 289 556
I == HT 208 215 242 457
JOSFET1TH 550 530 561 1,091
JNsFET2T H 551 536 565 1,101
JO=fET3TH 423 442 412 854
M=rET4T H 1,099 1,105 1,147 2,252
I S5k T 592 613 667 1,280
I=F5di) 228 219 258 477
Jt B BT 30 38 39 77
E[d:) 400 346 345 691
fHZaE T 812 931 991 1,922
FHRHET 78 88 96 184
1 2 FF T 368 426 457 883
BEFE1TH 89 113 123 236
BEFE2TH 286 335 342 677
T EHT 131 149 145 294
/N BB T 3,081 3,161 3,382 6,543
1R T 260 292 311 603
YEZF HT 748 743 809 1,552
EXBI1TH 270 245 283 528
=/ LLIHT 224 165 128 293
Hh ek HT 17 17 5 22
T A EHET 10 12 10 22
THHEE1TH 719 678 725 1,403
THHEE2TH 529 580 566 1,146
THHEESTH 792 816 941 1,757
TEHE1TH 190 191 186 377
TEHRI2TH 818 768 887 1,655
TEHRISTH 163 166 183 349
TEHRI4ATH 91 95 106 201
TEHRISTH 223 241 251 492
T HAET 668 713 750 1,463
TET1TH 353 359 367 726
THET2 T H 459 443 484 927
TH#RBI3TH 205 206 238 444
TET4TH 157 154 185 339
HTAEHET 24 23 9 32
T 187 188 189 377
#8)11 BT 44 46 54 100
KT HT 303 324 350 674

e K HT 1,690 1,736 1,898 3,634
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HEZ HH 5 £ i
FSIED 272 327 320 647
XLAT1TH 848 802 941 1,743
XLAT2T B 316 345 363 708
X#ILET3TH 147 159 167 326
1 [ BT 49 66 80 146
hHET1TH 360 384 410 794
hHET2TH 453 489 528 1,017
hHBEI3TH 432 517 520 1,037
niEld:) 258 248 291 539
th 2 JEHT 230 215 251 466
ch T 126 126 164 290
FRAHT 765 876 887 1,763
At A ET 889 904 1,041 1,945
75 K ERET 791 993 1,031 2,024
75 2 [N HET 1,656 1,848 1,988 3,836
A 806 782 889 1,671
SFHEAT1TH 539 469 540 1,009
SFHEAT2TH 423 395 472 867
$FHEAI3TH 209 226 238 464
i BT 431 489 521 1,010
YHET1T B 378 478 492 970
HET3T B 356 394 444 838
HET4 T B 115 109 136 245
J\ & T 992 1,083 1,140 2,223
J\HHT 172 218 222 440
+ A ERT 270 325 359 684
T A HT 2,247 2,295 2,466 4,761
THB1TH 24 21 22 43
T4HB2TH 1,461 1,388 1,367 2,755
T4HBI3TH 193 172 180 352
THHB4TH 369 312 377 689
T4HHB5TH 957 699 969 1,668
T4HBI6TH 230 240 276 516
THRI7TH 362 394 437 831
T4HBISTH 389 417 430 847
THRBOTH 391 461 506 967
T4B13TH 309 354 392 746
AR NBHT 1,982 1,726 2,003 3,729
HARRHET 1,343 1,240 1,245 2,485
HEARK/ERET 288 378 392 770
HEARICEHT 166 171 182 353
ZFARKEHET 136 122 135 257
Z AR hHET 202 227 263 490
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HEZ HH 5 = 5
N 437 464 495 959
H AR EHT 325 348 387 735
EHARE)IIET 293 278 302 580
e N=TN ] 109 121 136 257
FH AR JTHT 104 98 116 214
EARERHE 670 577 664 1,241
B K BRHET 390 403 406 809
Edsa] 892 908 1,022 1,930
BEFET1TH 768 742 767 1,509
BEIFRI2TH 600 606 680 1,286
BRFEIST H 350 411 408 819
AIFTET1T B 424 383 436 819
AIFFAT2T B 598 604 665 1,269
AIFFAT3T B 595 694 745 1,439
A HT 189 218 201 419
H_LH 216 278 298 576
NEL] 808 796 868 1,664
ERL 731 912 922 1,834
= HHE 1,718 1,941 2,037 3,978
HLARET1TH 577 648 671 1,319
HETIRET2TH 507 596 642 1,238
HLAREISTH 293 374 375 749
P fx T 316 366 399 765
mLERI1TH 1,159 1,132 1,289 2,421
mERI2TH 844 972 1,072 2,044
FA T 1,342 1,408 1,581 2,989
= RITET 531 515 554 1,069
= AHT 349 281 348 629
AR#HT 10 9 4 13
=) 493 574 526 1,100
SHA1TH 714 641 799 1,440
S HHET2TH 406 443 471 914
aHEI3TH 854 748 919 1,667
S HET4TH 774 650 871 1,521
E& T 1 1 0 1
J\BRET1TH 211 273 269 542
J\BRET2T B 221 237 235 472
J\BRBT3TH 239 292 302 594
1Tl 290 433 419 852
FHEIBRT1 TH 135 165 173 338
FHaEIRT2TH 301 433 464 897
FIaTET3T B 11 25 15 40
ENOER1TH 19 29 26 55
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 23 20 3 23

HWEEt 88,371 92,645 | 100,475| 193,120
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